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Exam 1 October 18, 2010
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There are 6 pages and 4 questions, for a total of 60 points.

No notes, no calculators, no books.

Please turn off all electronic devices.

Answer the questions in the spaces provided on the question sheets. If
you run out of room for an answer, continue on the back of the page.

Unless otherwise stated, show all yvour work for full eredit. To maximize
credit, cross out incorrect work.

Good luck! @
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1. Consider the points in space P = (1,2,—-1), = (2,1,1), R = (—1,1,0).
(a) (3 points) Compute the vector 17(95

PQ = <1,-1, 2>

(b) (5 points) Find a normal vector to the plane through P, Q) and R.
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" ~ L

e =2 %
Vo< mal vete = ‘?é. <R = \\" —Q\ <.

-2 -\ o~
B T WA T R WA i

= & ‘1—5"5>

(¢) (6 points) Compute the area of the triangle in space PQR.

Aeea B = —\3_\‘%“ ;‘?’l\ =.%-S\+2.§-\-q = 5?;_5:

(d) (6 points) Find the cosine of the angle at P of the triangle PQR.
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2. Consider a moving point whose trajectory is given by 7(t) = (sin4t, — cos4t,9 — 3¢) .

(a) (3 points) Find the velocity vector #(t).
= s 3 R P
V(-é)’l“("”‘(‘-’casqf) "‘lSln'-{'t, -3>

(b) (7 points) Write down a parametric equation for the tangent line L(#) at the point
3

Pz({),l,sj—;—*). q - 5_"_"-._._ q -3¢ -{—:l‘:-

?("79)': (-4) P W

-
L(e) = <0,\,q—2':> + 6 <-4,0,-3>

(¢) (2 points) What is the speed of the moving point at P?

O (T3 = o/ o3 = o35 = 5
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(d) (3 points) Find the acceleration a(t).

-
ale) = (—IGSmU‘t) |G eosd4t, ©D

(e) (5 points) Find the length travelled by the moving point along the trajectory be-
tween t; = 0 and t; = 7.

L3 T
: j; " veanat = ﬁ 7//2¢os“-lé+ (65/n*4T + 9
= ™ "
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3. Cousider the plane x — 2y + z = 1.

(a) (3 points) Find a normal vector to this plane.

(b)
Eq, of ”n@

(7 points) Find the intersection of this plane with the line parallel to the vector
(1,—1,1) and passing through the point P = (1,1, 1).

rd)= L0 4 24400 = 1, -, 148

() -200-¢) +014¢) = |
Ht = |
{3'/.'

Paint of infers ection
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. (10 points) Find a parametric equation for the curve 7(f) given by the intersection of

r+2°=5andr -2 +2+2=0.
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